
www.F
irs

tR
an

ke
r.c

om

This question paper consists of 32 questions  and 11 printed pages.

Bg ‡ÌZ-nÃ _| 32 ‡ÌZ VWm 11 _w{–V n•> h¢ü&

Code No.

H$moS> Zß0 56 / HIS / 2

ECO NOM ICS

AW©emÛ
(318)

Day and Date of Ex am i na tion ..................................................................................

(narjm H$m {XZ d {XZmßH$)

Sig na ture of Invigilators 1. ............................................................................................

({ZarjH$m| Ho$ hÒVmja)
2. ............................................................................................

Gen eral In struc tions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total number
of questions contained in the Question Paper are the same as those printed on
the top of the first page. Also check to see that the questions are in sequential
order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 56/HIS/2, Set u on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish,
you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are re quired to in di cate the lan guage you have cho sen to an swer in the
box pro vided in the An swer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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gm_m›` AZwXoe Ö

1. narjmWu ‡ÌZ-nÃ Ho$ nhbo n•> na AnZm AZwH´$_mßH$ AdÌ` {bI|ü&

2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ ‡ÌZ-nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$
g~go D$na N>nr h°ü& Bg ~mV H$s Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&

3. CŒma-nwpÒVH$m _| nhMmZ-{Mï ~ZmZo AWdm {Z{X©Ô> ÒWmZm| Ho$ A{V[a∫$ H$ht ^r AZwH´$_mßH$ {bIZo na narjmWu
H$mo A`moΩ` R>ham`m Om òJmü&

4. AnZr CŒma-nwpÒVH$m na ‡ÌZ-nÃ H$m H$moS> Zß0 56/HIS/2, goQ> u {bI|ü&

5. (H$) ‡ÌZ-nÃ Ho$db {h›Xr/AßJ´oOr _| h°ü& {\$a ^r, `{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm _| CŒma Xo
gH$Vo h¢ Ö

AßJ´oOr, {h›Xr, CXy©, nßOm~r, ~ßJbm, V{_b, _b`mb_, H$fiãS>, VobwJy, _amR>r, C{ãS>`m, JwOamVr,
H$m|H$Ur, _{Unwar, Ag{_`m, Zonmbr, H$Ì_rar, gßÒH•$V Am°a {g›Yrü&

H•$n`m CŒma-nwpÒVH$m _| {XE JE ~m∞äg _| {bI| {H$ Amn {H$g ^mfm _| CŒma {bI aho h¢ü&

(I) `{X Amn {h›Xr Edß AßJ´oOr Ho$ A{V[a∫$ {H$gr A›` ^mfm _| CŒma {bIVo h¢, Vmo ‡ÌZm| H$mo g_PZo _| hmoZo
dmbr Ãw{Q>`m|/Jb{V`m| H$s {OÂ_oXmar Ho$db AmnH$s hmoJrü&
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ECO NOM ICS

AW©emÛ

(318)

Time : 3 Hours ] [ Max i mum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : (i) All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives—(A), (B), 

(C) and (D), out of which one is most appropriate. Select the correct

answer among the four alternatives and write it in your answer-book

against the number of the question. No extra time is allotted for

attempting multiple-choice questions.

{ZX}e : (i) g^r ‡ÌZm| Ho$ CŒma Xr{OEü&

(ii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ AßH$ {bIo JE h¢ü&

(iii) ‡ÌZ gßª`m 1 go 10 VH$ Ho$ ‡À òH$ ‡ÌZ _| Mma {dH$În—(A), (B), (C) VWm (D) h¢, {OZ_|
go EH$ Cn ẁ∫$ h°ü& Mmam| {dH$Înm| _| go ghr CŒma MwZ| VWm AnZr CŒma-nwpÒVH$m _| ‡ÌZ gßª`m Ho$
gm_Zo CŒma {bI|ü& ~h˛-{dH$Înr ‡ÌZm| Ho$ {bE A{V[a∫$ g_` Zht {X`m OmEJmü&

1. The coefficient of correlation ranges between

(A) 0 and 1 (B) –1 and +1

(C) – in fin ity and + in fin ity (D) 1 and 100 1

ghgß~ßY JwUmßH$ _____ Ho$ ~rM hmoVm h°ü&

(A) 0 VWm 1 (B) –1 VWm +1

(C) – AZ›V VWm + AZ›V (D) 1 VWm 100

2. Expansion of demand leads to

(A) downward movement along the same demand curve

(B) upward movement along the same demand curve

(C) rightward shift of the demand curve

(D) leftward shift of the demand curve 1
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_m±J _| {dÒVma go hmoVm h°

(A) Cgr _m±J dH´$ na ZrMo H$s Amoa gßMbZ

(B) Cgr _m±J dH´$ na D$na H$s Amoa gßMbZ

(C) _m±J dH´$ _| Xm`t Amoa {IgH$md

(D) _m±J dH´$ _| ~m`t Amoa {IgH$md

3. Average variable cost of producing 2 units of a good is R20 and that of

producing 3 units is R19. Marginal cost when 3 units are produced is

(A) R17 (B) R18

(C) R19 (D) R20 1

{H$gr dÒVw H$s 2 BH$mB© Ho$ CÀnmXZ H$s Am°gV n[adVu bmJV R20 h° VWm BgH$s 3 BH$mB© Ho$
CÀnmXZ H$s Am°gV n[adVu bmJV R19 h°ü& 3 BH$mB© H$m CÀnmXZ H$aZo na gr_m›V bmJV h°

(A) R17 (B) R18

(C) R19 (D) R20

4. An individual is both the owner and the manager of a shop taken on rent.

Imputed value of salary of the manager is

(A) nor mal profit (B) vari able cost

(C) im plicit cost (D) ex plicit cost 1

EH$ Ï`{∫$ {H$am ò na br JB© EH$ XwH$mZ H$m Òdm_r VWm _°ZoOa XmoZm| h°ü& _°ZoOa Ho$ doVZ H$m
Amamo{nV _yÎ` h°

(A) gm_m›` bm^ (B) n[adVu bmJV

(C) AßV{Z©{hV bmJV (D) ÒnÔ> bmJV

5. Computers installed in an office are

(A) con sump tion goods (B) in ter me di ate goods

(C) non-du ra ble goods (D) fi nal goods 1

EH$ Am∞{\$g _| bJm ò J ò H$Âfl ỳQ>a h¢

(A) Cn^mo∫$m dÒVwE± (B) _‹`dVu dÒVwE±

(C) J°a-{Q>H$mD$ dÒVwE± (D) Ap›V_ dÒVwE±
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6. National income is greater than domestic income, when

(A) net fac tor in come from abroad is zero

(B) net fac tor in come from abroad is positive

(C) net fac tor in come from abroad is negative

(D) the econ omy is a closed econ omy 1

amÔ¥>r` Am`, Kaoby Am` go A{YH$ hmoVr h°, O~

(A) {dXoem| go ‡m· {Zdb gmYZ Am` ey›` hmo

(B) {dXoem| go ‡m· {Zdb gmYZ Am` YZmÀ_H$ hmo

(C) {dXoem| go ‡m· {Zdb gmYZ Am` F$UmÀ_H$ hmo

(D) AW©Ï`dÒWm EH$ ~›X AW©Ï`dÒWm hmo

7. Value added is a measure of contribution of

(A) a resident (B) a pro duc tion unit

(C) an entrepreneur (D) a worker 1

_yÎ` d•{’ EH$ _____ Ho$ `moJXmZ H$m _mnH$ h°ü&

(A) {Zdmgr (B) CÀnmXZ BH$mB©

(C) C⁄_r (D) l{_H$

8. Income in an economy increases from R1,000 crores to R2,000 crores and

as a result consumption expenditure increases from R800 crores to R1,600

crores. The value of MPC is

(A) 1 (B) 2

(C) 0·8 (D) 0·2 1

EH$ AW©Ï`dÒWm _| Am` R1,000 H$amoãS> go ~ãT>H$a R2,000 H$amoãS> hmo OmVr h° Am°a \$bÒdÍ$n
Cn^moJ Ï`` R800 H$amoãS>  go ~ãT>H$a R1,600 H$amoãS> hmo OmVm h°ü& MPC H$m _yÎ` h°

(A) 1 (B) 2

(C) 0·8 (D) 0·2
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9. On a diagram, the distance between the point of origin and the point on

Y-axis from which the consumption curve starts is a measure of

(A) saving (B) income

(C) fixed consumption (D) dis pos able income 1

aoIm{MÃ na _yb{~›Xw VWm Ohm± go Y-Aj na Cn^moJ dH´$ AmaÂ^ hmoVm h° Ho$ ~rM H$s Xyar _____

H$m _mn h°ü&

(A) ~MV (B) Am`

(C) pÒWa Cn^moJ (D) ‡`mo¡` Am`

10. Investment multiplier is equal to

(A)
D

D

Y

I
(B)

1

1 - MPC

(C)
1

MPS
(D) All of the above 1

{Zdoe JwUH$ ~am~a h°

(A)
D

D

Y

I
(B)

1

1 - MPC

(C)
1

MPS
(D) Cnamo∫$ g^r

11. Using step deviation method, calculate arithmetic mean from the data given

below : 3

Age (in years) 20–30 30–40 40–50 50–60

No. of Employees 20 30 40 10

nX {dMbZ {d{Y ¤mam {ZÂZ{b{IV Am±H$ãS>m| go g_m›Va _m‹` H$s JUZm H$s{OE Ö

Am ẁ (dfm] _|) 20–30 30–40 40–50 50–60

H$_©Mm[a`m| H$s gßª`m 20 30 40 10

12. What is meant by positive and normative economics? Give one example of

each. 3

dmÒV{dH$ Am°a AmXe© AW©emÛ go ä`m A{^‡m` h°? ‡À òH$ H$m EH$-EH$ CXmhaU Xr{OEü&

318/HIS/110A 6
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13. How is the demand for a commodity affected by an increase in price of

related goods? Explain. 3

gß~ß{YV dÒVwAm| H$s H$s_V _| d•{’ hmoZo na {H$gr dÒVw H$s _m±J H°$go ‡^m{dV hmoVr h°? g_PmB òü&

14. Coefficient of price elasticity of supply of a good is 2. A producer supplies

200 units of this good when its price is R10 per unit. Calculate the quantity

supplied of this good when its price rises to R12 per unit. 3

EH$ dÒVw H$m Amny{V© H$s_V bmoM JwUmßH$ 2 h°ü& EH$ CÀnmXH$ Bg dÒVw H$s R10 ‡{V BH$mB© H$s_V
na 200 BH$mB`m| H$s Amny{V© H$aVm h°ü& Bg dÒVw H$s H$s_V ~ãT>H$a R12 ‡{V BH$mB© hmoZo na BgH$s 
Amny{V© H$s _mÃm H$s JUZm H$s{OEü&

15. Describe any three main characteristics of monopolistic competition. 3

EH$m{YH$mamÀ_H$ ‡{V`mo{JVm H$s {H$›ht VrZ _wª` {deofVmAm| H$m dU©Z H$s{OEü&

16. Calculate gross value added at factor cost from the data given below : 3

R (in lakhs)  

(i) Sales 3,000

(ii) Subsidies 30

(iii) Indirect taxes 100

(iv) Intermediate consumption expenditure 1,500

(v) Consumption of fixed capital 200

(vi) Opening stock 20

(vii) Closing stock 10

{ZÂZ{b{IV Am±H$ãS>m| go gmYZ bmJV na gH$b _yÎ` d•{’ H$s JUZm H$s{OE Ö

   R (bmI _|)

(i) {~H´$r 3,000

(ii) Am{W©H$ ghm`Vm 30

(iii) A‡À`j-H$a 100

(iv) _‹`dVu Cn^moJ Ï`` 1,500

(v) AMb ny±Or H$m Cn^moJ 200

(vi) AmapÂ^H$ ÒQ>m∞H$ 20

(vii) Aß{V_ ÒQ>m∞H$> 10
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17. Explain the meaning of ‘normal residents’ of a country. 3

{H$gr Xoe Ho$ "gm_m›` {Zdmgr' H$m AW© g_PmBEü&

18. Describe any two factors which determine propensity to consume in an

economy. 3

Eogo {H$›ht Xmo H$maH$m| H$m dU©Z H$s{OE, Omo EH$ AW©Ï`dÒWm _| Cn^moJ ‡d•{Œm H$mo {ZYm©[aV H$aVo h¢ü&

19. What is meant by revenue receipts and capital receipts in a government

budget? Give one example of each. 3

gaH$ma Ho$ ~OQ> _| "amOÒd ‡m{·`m|' VWm "ny±OrJV ‡m{·`m|' go ä`m A{^‡m` h°? ‡À òH$ H$m EH$-EH$
CXmhaU Xr{OEü&

20. Calculate (a) revenue deficit, (b) fiscal deficit and (c) primary deficit from the

following data : 3

R (in billion)  

(i) Revenue expenditure 40

(ii) Revenue receipts 30

(iii) Borrowings 15

(iv) Interest payments 5

(v) Capital receipts 20

{ZÂZ{b{IV Am±H$ãS>m| go (a) amOÒd KmQ>m, (b) amOH$mofr` KmQ>m VWm (c) ‡mW{_H$ KmQ>m H$s JUZm
H$s{OE Ö

   R (Aa~ _|)

(i) amOÒd Ï`` 40

(ii) amOÒd ‡m{·`m± 30

(iii) F$U 15

(iv) „`mO ^wJVmZ 5

(v) ny±OrJV ‡m{·`m± 20

21. What is a Lorenz curve? Explain the steps involved in drawing a Lorenz

curve. 4

bm∞a|O dH´$ ä`m hmoVm h°? bm∞a|O dH´$ ItMZo _| ‡ ẁ∫$ MaU g_PmBEü&

318/HIS/110A 8
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22. What is an economic problem? Why does it arise? Explain. 4

Am{W©H$ g_Ò`m ä`m hmoVr h°? `h ä`m| CÀnfi hmoVr h°? g_PmBEü&

23. A household demands 20 units of a good when its price is R5 per unit.

When its price falls to R4 per unit, he demands 25 units of this good.

Calculate its price elasticity of demand. 4

EH$ n[adma {H$gr dÒVw H$s R5 ‡{V BH$mB© H$s_V na BgH$s 20 BH$mB`m| H$s _m±J H$aVm h°ü& O~
BgH$s H$s_V H$_ hmoH$a R4 ‡{V BH$mB© hmo OmVr h°, Vmo dh BgH$s 25 BH$mB`m| H$s _m±J H$aVm h°ü& 
dÒVw H$s _m±J H$s H$s_V bmoM H$s JUZm H$s{OEü&

24. State the necessary conditions to maximize profit of a producer through—

(a) total revenue and total cost approach;

(b) marginal cost and marginal revenue approach. 4

EH$ CÀnmXH$ Ho$ bm^ H$mo A{YH$V_ H$aZo H$s AmdÌ`H$ eVm] H$m CÑoI H$s{OE—

(H$) Hw$b AmJ_ Am°a Hw$b bmJV {d{Y ¤mam;

(I) gr_m›V bmJV Am°a gr_m›V AmJ_ {d{Y ¤mamü&

25. What is meant by excess demand in macroeconomics? How is the bank rate

used as a tool to reduce excess demand in the economy? 4

g_{Ô> AW©emÛ _| "Am{Yä` _m±J' go ä`m A{^‡m` h°? AW©Ï`dÒWm _| Am{Yä` _m±J H$mo H$_ H$aZo 
Ho$ {b ò ~¢H$ Xa H$mo EH$ CnH$aU Ho$ Í$n _| H°$go ‡`moJ {H$`m OmVm h°?

26. What is meant by increase in supply? State any two factors which may lead

to increase in supply of a commodity. 4

"Amny{V© _| d•{’' go ä`m A{^‡m` h°? Eogo {H$›ht Xmo H$maH$m| H$m CÑoI H$s{OE, {OZgo {H$gr dÒVw
H$s Amny{V© _| d•{’ hmo gH$Vr h°ü&

27. Using assumed mean method, find out standard deviation from the

following frequency distribution : 6

Size 0–2 2–4 4–6 6–8 8–10 10–12

Frequency 2 4 6 4 2 6

318/HIS/110A 9 [ P.T.O.
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H$pÎnV _m‹` {d{Y H$m ‡`moJ H$aVo h˛E {ZÂZ{b{IV Amd•{Œm {dVaU go _mZH$ {dMbZ kmV> H$s{OE Ö

AmH$ma 0–2 2–4 4–6 6–8 8–10 10–12

Amd•{Œm 2 4 6 4 2 6

28. Describe any four issues to be kept in mind in the construction of index

numbers. 6

Eogr {H$›ht Mma ~mVm| H$m dU©Z H$s{OE, Omo gyMH$mßH$m| H$s aMZm H$aVo g_` ‹`mZ _| aIZr Mm{hEü&

29. A consumer consumes two goods X and Y. Explain the conditions of his

equilibrium using indifference curve approach. 6

EH$ Cn^mo∫$m Xmo dÒVwAm| X VWm Y H$m Cn^moJ H$aVm h°ü& AZ{Y_mZ dH´$ {d{Y H$m ‡`moJ H$aVo h˛E
CgHo$ gßVwbZ H$s eV] g_PmBEü&

30. State and explain the law of variable proportions. Use diagram or a

numerical example. 6

"n[adVu AZwnmVm| H$m {Z`_' H$m CÑoI H$a BgH$s Ï`mª`m H$s{OEü& aoIm{MÃ AWdm gßª`mÀ_H$
CXmhaU H$m ‡`moJ H$s{OEü&

31. Calculate gross domestic product at market price from the data given

below : 6

R (in crores)  

(i) Subsidies 40

(ii) Indirect taxes 140

(iii) Mixed income of self-employed 15,000

(iv) Compensation of employees 9,000

(v) Consumption of fixed capital 500

(vi) Net factor income to abroad 20

(vii) Profit 3,000

(viii) Interest 1,500

(ix) Rent 2,000

318/HIS/110A 10
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{ZÂZ{b{IV Am±H$ãS>m| go ~mOma H$s_V na gH$b Kaoby CÀnmX H$s JUZm H$s{OE Ö

   R (H$amoãS _|)

(i) Am{W©H$ ghm`Vm 40

(ii) A‡À`j-H$a 140

(iii) Òd{Z`mo{OVm| H$s {_{lV Am` 15,000

(iv) H$_©Mm[a`m| H$m nm[al{_H$ 9,000

(v) AMb ny±Or H$m Cn^moJ 500

(vi) {dXoem| H$mo {Zdb gmYZ Am` 20

(vii) bm^> 3,000

(viii) „`mO 1,500

(ix) bJmZ 2,000

32. Describe the following functions of money : 6

(a) Medium of exchange

(b) Store of value

_w–m Ho$ {ZÂZ{b{IV H$m`m] H$m dU©Z H$s{OE Ö

(H$) {d{Z_` H$m _m‹`_

(I) _yÎ`-gßJ´h  

H H H
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